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AR _ 42 589 21,364 21,225
HRAFEEAO 41,738 20,995 20,743
SEAMERAD 851 369 482
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Hi il FEREX HESF 2 Bt arhE | BHEE
AR 3,400 2,937 2,767 2,445 1,192 4695 2,466 574
] 1,716 1,527 1,379 1,242 601 2,377 1,153 263
S 1,684 1,410 1,388 1,203 591 2,318 1,313 311
i 1,321 1,162 1,032 1,007] 463 1713] 1,003 267
8BS i EAE [HEFMERERAMBIE] iLE fif=ka EBE LU
AR 3,297 2,291 3,088 1,213 1,175 3,344 1,247 4422
] 1,682 1,110 1,532 597 584 1,676 612 2,259
i 1615 1,181 1,556 616 591 1,668 635 2,163
s 1,246 889 1,162 541 519 1,300 503 1,524
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Hiw il EREE HESF AR H Bt &rhE | EHEE
AR 3,344 2,914 2,734 2,383 1,157 4,600 2,457 516
;] 1,698 1,515 1,357 1,212 587 2,324 1,148 235
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AR 3,253 2,263 3,067 1,093 1,055 3,285 1,231 4368
;] 1,660 1,100 1,524 552 520 1,665 607 2,246
S 1,593 1,163 1,543 541 535 1,620 624 2,122
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AR 56 23 33 62 35 95 9 58
;] 18 12 22 30 14 53 5 28
E-S 38 11 ] 32| 21 42 4 30
BE HE EAe |[HEHE|HERME] LS fif=l=a ERHE L
AR 44 28 21 120 120 59 16 54
;] 22 10 8 45 64 11 5 13
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